Slug38: Corrected RMS (ppm): asym_usl
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Lagrange Corrections Width (ppm) by Eigenvectors

(Ndd)

o — o ™ < [Te]
S 8 & &8 & s
|53 |53 o |53 |53 (%3
[ (7] (9] [ (7] (9]
> > > > > >
c c c c c c
(7] [T Q [ [T Q
=y 2 2 o9 2 9
w w w w w w
—7 1 @
— == o
=\
T g
= ¢ z
1 <
........... R T -Som
-y ]
—

6001

Sl ——

....... —_— = - - - - ¢+ s00r

— » —— —

—_— =
y ———

— § —
.................... - z00v
N = - - - o soor

e

. (Y R - &3 ooy
............................. - ¢4| goov
|||||||||||||||||||||||||||||| ¢ zoov
B e It I -6 ¢&| 100V
T < §- - - 4| 000V
||||||||||||||||||||||||||||| NI 666E
........................... - - d¢ se6e
1-1-1 T_._u_._u*._._u_._._._. _._._._._u_._._._ - |- Pie] L66e

o o o o o o

o o o o S
s} < ™ Y -



Slope (ppm/um)
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Slug38: Slope : usl_vs_evMon0 (ppm/um)

|dit_slope| - |reg_slope| (ppm/um)

- -@- Regression

D 1 1 1

I | | |

- . . > . -@- Lagrange

T 1 1 1

o > . . .

m 1 1 1

= p . . .

M 1 P

- B J .

== 1

- ! r

Lo 1 P

e 1 1 [ 1 [ [ 1

I 1 1 [ 1 [ [ 1

[ 1 1 1 1 1 1 1 1

T 1 1 [ 1 [ [ 1 1

™ 1 1 [ 1 [ [ I 1 1

r 1 1 [ 1 [ [ 1 1

== 1 1 [ 1 [ [ 1 ® !

- | | (] | [ [ o ¢ |' |
NI N NN NN

~ © =3 od o~ o 0~ <o) @ o

o) 1o} o o9 o (=3 Q9 =} =3 =

o2} ] o2} oQ =] [=X=] =)= =} =} =}

3} ] 3} S < S S < < <N

Run Number

25F

htemp
Entries 54
Mean 0.453

Std Dev  0.6697

-1 -0.5

0

1

15

bs(mini_eig6bpm.usl_evMon0) ) /(ppm/um)




Slope (ppm/um)

-10

Slug38: Slope : usl_vs _evMonl (ppm/um)
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Slug38: Slope : usl_vs_evMon2 (ppm/um) Idit_slope - Ireg_slope| (ppm/um)
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Slug38: Slope : usl_vs_evMon3 (ppm/um) Idit_slope] - |reg_slope] (ppm/um)
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Slope (ppm/um)

Slug38: Slope : usl_vs_evMon4 (ppm/um) Idit_slope - Ireg_slope| (ppm/um)
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Slug38: Slope : usl_vs_evMon5 (ppm/um)
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